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1. The G.C.M. of two numbers is 9187, and their L.C.M. ia
G3'l!i;58'J'il494 : one of the numbers is 68590142, find the other.

2. (1) Divide 169.982 by .0009840018 to 7 places of decimals.
CI

(2) Eeduce "^^ to a periodic decimal.
• *

(3) Beduce '7002457 to a vulgar fraction.

8. There is a rectangular garden whose length is to its breadth
as to 5 ; running round its outside is a gravelled path 3 yards
wide ; this path cost, at 18J cents per square yard, ^127.26. Find
the dimensions of the garden.

2^90 7x/192 4^15 ^. ^ ,
4. Simplify 37108X57126"^

15^/21• ^*°^ *^® ™®*° P""®'

portional between 3402 and 16172 ; and extract the square root of

•000097199881.

5. The oxygen of the air is 3 parts (by volume) in 14 of the
whole ; 100 cubic inches of air weigh 31 grains, and the weight of

oxygen is to that of air as 63 : 48. Find the number of grains
of oxygen in a cubic foot of air.

6. A, 1), and C do a piece of work; it would have taken A 2^
times as' long as B and C together, and B 3J times as long as A
and C together. If they receive ^240.40 for the work, how much
should each man receive ?

7. Assuming that 90 cubic inches of lead, together with 81
cubic inches of cork, are equal in weight to 2308 cubic inches of

pine, and that the weights of equal bulks of lead and pine are

represented by the numbers 226.48, and 9, respectively ; determine
the proportionate weight of an equal bulk of cork, /j- 1 ^

8. A merchant in Toronto owes £560 stg. in London, and remits
as follows : first to I'aiis at 6 francs 60 centimes per ^1 ; thence to
Hamburg at 2 francs per marc ; thence to Amsterdam at 17^
stivers per marc ; thence to London at 224 stivers per £1. If the
expense of this circuitous exchange be 2 per cent. {i.e. of ^102
paid by ohe merchant, $2 is lost in commission), find what it costs

to discharge the London debt. % 2 i/// 2^ 6
9. I had two notes whose ag^egate face-value was ^761.70, and

each of which had 16 months to run ; one of the notes was dis-

counted at 10 per cent, bank discount, and the other at 10 per cent
true discount, and the total amount realized was ^671.5Q. Find
the face of the note on which trtte discount was allowed. j^3L0- ^i*

10. A cylindrical sihor wire, .0016 millimetre in diameter,

weighs 3.2876 grammes ; it is to be covered with a layer of gold
•0(j02 millimetre in thickness. Required the weight of the gold,

the specific gravity of silver being 10.47, and that of gold 19.26.


